BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE F.M. 2920 TURN LANES AND TRAFFIC SIGNAL AT SORELLA HEIGHTS DRIVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 558 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JANUARY 15, 2025 LJA ENGINEERING, INC.

S. YOUNG JANUARY 15, 2025 2025-0061 (9.2)

BIDDER NAME	BASE BID
1) DVL ENTERPRISES LLC	\$798,987.00
2) LARRY YOUNG PAVING	\$866,577.50
3) DURWOOD GREENE CONSTRUCTION CO.	\$877,719.90
4) TLC CONSTRUCTION CONTRACT SERVICES, INC.	\$921,323.96
5) MC2 CIVIL, LLC	\$932,364.75
6) FORDE CONSTRUCTION COMPANY	\$987,947.65
7) MB WESTERN CONSTRUCTION	\$1,323,696.50

CALENDAR DAYS 180/210

Trusten D. Dragrico

I, KRISTEN S. STAGNER, P.E., hereby certify these bid tabulations to be true and correct.



CONSTRUCTION OF THE F.M. 2920 TURN LANES AND TRAFFIC SIGNAL AT SORELLA HEIGHTS DRIVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 558 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JANUARY 15, 2025 LJA ENGINEERING, INC. s. YOUNG **JANUARY 15, 2025**

2025-0061 (9.2)

			1) DVL ENTE	RPRISES LLC	2) LARRY YO	UNG PAVING	3) DURWOOD GREEN	E CONSTRUCTION CO.	4) TLC CONSTRUCTION	CONTRACT SERVICES,
									IN	c.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
FM 2920 AT SORELLA HEIGHTS DRIVE TRAFFIC SIGNAL & ROADWAY ITEMS 1. PREPARING ROW, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIO COMPLETE IN PLACE, TXDOT SPEC. NO. 100	NS, STA	13.76	\$6,000.00	\$82,560.00	\$3,800.00	\$52,288.00	\$4,000.00	\$55,040.00	\$7,632.00	\$105,016.32
REMOVING ASPHALT (DRIVEWAYS), IN ACCORDANCE WITH THE PLANS A SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 105	AND SY	192	\$10.00	\$1,920.00	\$10.00	\$1,920.00	\$40.00	\$7,680.00	\$17.00	\$3,264.00
3. REMOVING STABILIZED BASE AND ASPHALT PAVEMENT (0"-16"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. 105	SY	612	\$10.00	\$6,120.00	\$14.00	\$8,568.00	\$40.00	\$24,480.00	\$38.00	\$23,256.00
EXCAVATION (ROADWAY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 110	CY	1772	\$30.00	\$53,160.00	\$24.00	\$42,528.00	\$30.00	\$53,160.00	\$34.00	\$60,248.00
5. EMBANKMENT (FINAL) (DENS CONT) (TY C), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 132	CY 2	626	\$5.00	\$3,130.00	\$18.00	\$11,268.00	\$30.00	\$18,780.00	\$23.00	\$14,398.00
 BLOCK SODDING, IN ACCORDANCE WITH THE PLANS AND SPECIFICATION COMPLETE IN PLACE, TXDOT SPEC. NO. 162 	NS, SY	4651	\$4.00	\$18,604.00	\$7.75	\$36,045.25	\$6.00	\$27,906.00	\$7.00	\$32,557.00
7. VEGETATIVE WATERING, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 168	MG	116	\$10.00	\$1,160.00	\$64.00	\$7,424.00	\$40.00	\$4,640.00	\$22.00	\$2,552.00
8. ASPHALT STAB BASE (GR 4) (PG 64), IN ACCORDANCE WITH THE PLANS A SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 292	ND TON	1618	\$120.00	\$194,160.00	\$150.00	\$242,700.00	\$125.00	\$202,250.00	\$129.00	\$208,722.00
 D-GR HMA(SQ) TY-D PG70-22, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 340 	TON	191	\$160.00	\$30,560.00	\$210.00	\$40,110.00	\$300.00	\$57,300.00	\$228.00	\$43,548.00
 DRILL SHAFT (TRF SIG POLE) (36 IN), IN ACCORDANCE WITH THE PLANS A SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 416 	AND LF	44	\$350.00	\$15,400.00	\$290.00	\$12,760.00	\$400.00	\$17,600.00	\$268.00	\$11,792.00
11. CONC BOX CULV (5 FT X 2 FT), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 462	LF	110	\$620.00	\$68,200.00	\$630.00	\$69,300.00	\$700.00	\$77,000.00	\$666.00	\$73,260.00
 RC PIPE (CL III) (24 IN), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 464 	LF	86	\$150.00	\$12,900.00	\$150.00	\$12,900.00	\$70.00	\$6,020.00	\$207.00	\$17,802.00
13. INLET (COMPL)(TY AAD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. 465	EA	1	\$5,000.00	\$5,000.00	\$11,000.00	\$11,000.00	\$8,200.00	\$8,200.00	\$5,729.00	\$5,729.00
14. INLET (COMPL)(TY AZ), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 465	EA	1	\$5,000.00	\$5,000.00	\$5,900.00	\$5,900.00	\$2,000.00	\$2,000.00	\$5,441.00	\$5,441.00
 SET (TY I)(S= 5 FT)(HW= 2 FT)(6:1) (P), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 467 	EA	1	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$14,000.00	\$14,000.00	\$10,312.00	\$10,312.00
16. SET (TY II) (24 IN) (RCP) (6: 1) (P), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 467	EA	2	\$3,000.00	\$6,000.00	\$2,300.00	\$4,600.00	\$1,200.00	\$2,400.00	\$1,966.00	\$3,932.00
17. REMOV STR (INLET), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 496	EA	2	\$500.00	\$1,000.00	\$1,100.00	\$2,200.00	\$700.00	\$1,400.00	\$417.00	\$834.00
 REMOV STR (SET), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIO COMPLETE IN PLACE, TXDOT SPEC. NO. 496 	NS, EA	3	\$700.00	\$2,100.00	\$810.00	\$2,430.00	\$700.00	\$2,100.00	\$354.00	\$1,062.00
 REMOV STR (PIPE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 496 	LF	217	\$20.00	\$4,340.00	\$35.00	\$7,595.00	\$20.00	\$4,340.00	\$31.00	\$6,727.00 FRN F-138

FRN F-1386

36. ELEC CONDR (NO. 4) BARE, IN ACCORDANCE WITH THE PLANS AND

AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 620

38. TRAY CABLE (4 CONDR) (12 AWG), IN ACCORDANCE WITH THE PLANS AND

SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 620

37. ELEC CONDR (NO. 4) INSULATED, IN ACCORDANCE WITH THE PLANS

SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 621

LF

20

35

360

CONSTRUCTION OF THE F.M. 2920 TURN LANES AND TRAFFIC SIGNAL AT SORELLA HEIGHTS DRIVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 558 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JANUARY 15, 2025 LIA ENGINEERING, INC. S. YOUNG JANUARY 15, 2025

2025-0061 (9.2)

				1) DVL ENTI	ERPRISES LLC	2) LARRY YOU	JNG PAVING	3) DURWOOD GREEN	CONSTRUCTION CO.	4) TLC CONSTRUCTION	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	REMOV STR (BOX CULVERT), IN ACCORDANCE WITH THE PLANS	LF	112	\$40.00	\$4,480.00	\$95.00	\$10,640.00	\$150.00	\$16,800.00	\$54.00	\$6,048.00
	AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 496					·					. ,
	BARRICADES, SIGNS AND TRAFFIC HANDLING, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 502	МО	3	\$3,000.00	\$9,000.00	\$6,200.00	\$18,600.00	\$12,000.00	\$36,000.00	\$9,593.00	\$28,779.00
	ROCK FILTER DAMS (INSTALL) (TY 2), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	LF	60	\$20.00	\$1,200.00	\$54.00	\$3,240.00	\$65.00	\$3,900.00	\$57.00	\$3,420.00
	ROCK FILTER DAMS (REMOVE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	LF	60	\$10.00	\$600.00	\$13.00	\$780.00	\$15.00	\$900.00	\$29.00	\$1,740.00
	CONSTRUCTION EXITS (INSTALL) (TY 1), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	SY	156	\$10.00	\$1,560.00	\$88.00	\$13,728.00	\$17.00	\$2,652.00	\$35.00	\$5,460.00
	CONSTRUCTION EXITS (REMOVE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	SY	156	\$10.00	\$1,560.00	\$13.00	\$2,028.00	\$5.00	\$780.00	\$13.00	\$2,028.00
	TEMP SEDMT CONT FENCE (INSTALL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	LF	105	\$5.00	\$525.00	\$4.75	\$498.75	\$7.00	\$735.00	\$4.00	\$420.00
	TEMP SEDMT CONT FENCE (REMOVE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	LF	105	\$2.00	\$210.00	\$1.25	\$131.25	\$3.00	\$315.00	\$1.00	\$105.00
	BIODEG EROSN CONT LOGS (INSTL) (8"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	LF	28	\$10.00	\$280.00	\$6.75	\$189.00	\$10.00	\$280.00	\$7.00	\$196.00
	BIODEG EROSN CONT LOGS (REMOVE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	LF	28	\$10.00	\$280.00	\$1.25	\$35.00	\$3.00	\$84.00	\$3.00	\$84.00
	CONDT PVC (SCHD 80) (2"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 618	LF	155	\$23.00	\$3,565.00	\$13.00	\$2,015.00	\$20.00	\$3,100.00	\$16.00	\$2,480.00
	CONDT PVC (SCHD 80) (2") (BORE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT. SPEC. NO. 618	LF	95	\$30.00	\$2,850.00	\$21.00	\$1,995.00	\$22.00	\$2,090.00	\$19.00	\$1,805.00
	CONDT PVC (SCHD 80) (3"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 618	LF	130	\$33.00	\$4,290.00	\$15.00	\$1,950.00	\$24.00	\$3,120.00	\$22.00	\$2,860.00
	CONDT PVC (SCHD 80) (4"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 618	LF	45	\$42.00	\$1,890.00	\$17.00	\$765.00	\$28.00	\$1,260.00	\$44.00	\$1,980.00
	CONDT PVC (SCHD 80) (4") (BORE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 618	LF	95	\$36.00	\$3,420.00	\$26.00	\$2,470.00	\$30.00	\$2,850.00	\$25.00	\$2,375.00
	ELEC CONDR (NO. 6) BARE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 620	LF	510	\$3.00	\$1,530.00	\$1.25	\$637.50	\$2.50	\$1,275.00	\$2.00	\$1,020.00

\$80.00

\$140.00

\$1,080.00

\$4.00

\$4.00

\$3.00

\$120.00

\$245.00

\$1,800.00

\$2.25

\$2.75

\$2.50

\$45.00

\$96.25

\$900.00

\$5.50

\$6.00

\$4.00

\$6.00

\$7.00

\$5.00

\$110.00

\$210.00

\$1,440.00

CONSTRUCTION OF THE F.M. 2920 TURN LANES AND TRAFFIC SIGNAL AT SORELLA HEIGHTS DRIVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 558 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS **JANUARY 15, 2025** LJA ENGINEERING, INC. S. YOUNG **JANUARY 15, 2025**

2025-0061 (9.2)

SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY

TO TXDOT SPEC. NO. 680

				1) DVL ENTE	RPRISES LLC	2) LARRY YO	OUNG PAVING	3) DURWOOD GREEN	NE CONSTRUCTION CO.	4) TLC CONSTRUCTION	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
39	. GROUND BOX TY D (162922) W/APRON, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 624	EA	3	\$1,500.00	\$4,500.00	\$1,400.00	\$4,200.00	\$3,600.00	\$10,800.00	\$1,273.00	\$3,819.00
40	. ELC SRV TY D 120/240 060(NS)SS(E)SP(O), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 628	EA	1	\$8,000.00	\$8,000.00	\$7,700.00	\$7,700.00	\$7,000.00	\$7,000.00	\$8,828.00	\$8,828.00
41	. IN SM RD SN SUP&AM TY10BWG(1)SA(P), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 644	EA	7	\$800.00	\$5,600.00	\$810.00	\$5,670.00	\$700.00	\$4,900.00	\$698.00	\$4,886.00
42	. IN SM RD SN SUP&AM TY10BWG(1)SA(T), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 644	EA	1	\$800.00	\$800.00	\$990.00	\$990.00	\$900.00	\$900.00	\$847.00	\$847.00
43	. REFL PAV MRK TY I (W)8"(SLD)(100MIL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 666	LF	527	\$4.00	\$2,108.00	\$2.00	\$1,054.00	\$2.00	\$1,054.00	\$2.00	\$1,054.00
44	. REFL PAV MRK TY I (W)24"(SLD)(100MIL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 666	LF	94	\$20.00	\$1,880.00	\$11.00	\$1,034.00	\$12.00	\$1,128.00	\$9.00	\$846.00
45	. REFL PAV MRK TY I (W)(ARROW)(100MIL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 666	EA	3	\$300.00	\$900.00	\$230.00	\$690.00	\$175.00	\$525.00	\$197.00	\$591.00
46	. REFL PAV MRK TY I (W)(WORD)(100MIL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 666	EA	3	\$300.00	\$900.00	\$240.00	\$720.00	\$200.00	\$600.00	\$203.00	\$609.00
47	. REFL PAV MRK TY I (Y)24"(SLD)(100MIL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 666	LF	530	\$15.00	\$7,950.00	\$10.00	\$5,300.00	\$12.00	\$6,360.00	\$9.00	\$4,770.00
48	. RE PM W/RET REQ TY I (W)6"(SLD)(100MIL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 666	LF	2672	\$4.00	\$10,688.00	\$1.25	\$3,340.00	\$1.80	\$4,809.60	\$1.00	\$2,672.00
49	. RE PM W/RET REQ TY I (Y)6"(SLD)(100MIL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 666	LF	4306	\$4.00	\$17,224.00	\$1.25	\$5,382.50	\$1.80	\$7,750.80	\$1.00	\$4,306.00
50	. REFL PAV MRKR TY I-C, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 672	EA	26	\$10.00	\$260.00	\$8.00	\$208.00	\$7.00	\$182.00	\$7.00	\$182.00
51	. REFL PAV MRKR TY II-A-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 672	EA	215	\$10.00	\$2,150.00	\$8.00	\$1,720.00	\$8.00	\$1,720.00	\$7.00	\$1,505.00
52	. ELIM EXT PAV MRK & MRKS (4"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 677	LF	6243	\$1.00	\$6,243.00	\$0.50	\$3,121.50	\$2.50	\$15,607.50	\$0.48	\$2,996.64
53	. INSTALL HWY TRF SIG (FLASH BEACON), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680	EA	1	\$12,000.00	\$12,000.00	\$7,400.00	\$7,400.00	\$9,000.00	\$9,000.00	\$4,864.00	\$4,864.00
54	. INSTALL HWY TRF SIG (SYSTEM), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680	EA	1	\$8,500.00	\$8,500.00	\$22,000.00	\$22,000.00	\$4,300.00	\$4,300.00	\$3,638.00	\$3,638.00
55	. CNT FULL ACTUATED SOLID STATE W/ NEMA CAB, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	1	\$23,000.00	\$23,000.00	\$24,000.00	\$24,000.00	\$20,000.00	\$20,000.00	\$24,928.00	\$24,928.00
56	CONTICAB FOUNDATION, IN ACCORDANCE WITH THE PLANS AND	EA	1	\$3,100.00	\$3,100.00	\$2,600.00	\$2,600.00	\$5,500.00	\$5,500.00	\$1,458.00	\$1,458.00

CONSTRUCTION OF THE F.M. 2920 TURN LANES AND TRAFFIC SIGNAL AT SORELLA HEIGHTS DRIVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 558 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JANUARY 15, 2025
LIA ENGINEERING, INC.
S. YOUNG
JANUARY 15, 2025

2025-0061 (9.2)

				1) DVL ENT	ERPRISES LLC	2) LARRY YO	DUNG PAVING	3) DURWOOD GREE	NE CONSTRUCTION CO.	1 .	I CONTRACT SERVICES,
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	. ROD 5/8"X10' COPPER-CLAD GROUND (CNT ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	1	\$200.00	\$200.00	\$45.00	\$45.00	\$200.00	\$200.00	\$139.00	\$139.00
58	. RADAR DETECTOR PROCESSOR, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	1	\$9,000.00	\$9,000.00	\$8,300.00	\$8,300.00	\$3,800.00	\$3,800.00	\$10,631.00	\$10,631.00
59	. 18-INCH CABINET BASE EXTENSION, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	1	\$1,500.00	\$1,500.00	\$980.00	\$980.00	\$1,000.00	\$1,000.00	\$1,646.00	\$1,646.00
60	. OVERHEAD SIGN, FM 2920 (54"X18") 6.8 SF, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	1	\$1,100.00	\$1,100.00	\$750.00	\$750.00	\$700.00	\$700.00	\$760.00	\$760.00
61	. OVERHEAD SIGN, SORELLA HEIGHTS DR (102"X18") 12,8 SF, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	2	\$1,200.00	\$2,400.00	\$910.00	\$1,820.00	\$900.00	\$1,800.00	\$954.00	\$1,908.00
62	. MAST ARM DAMPENER, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	3	\$700.00	\$2,100.00	\$600.00	\$1,800.00	\$630.00	\$1,890.00	\$645.00	\$1,935.00
63	. CELLULAR MODE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	1	\$3,700.00	\$3,700.00	\$770.00	\$770.00	\$2,100.00	\$2,100.00	\$7,179.00	\$7,179.00
64	. LED RDWY LUMINAIRE (.25 KW EQ), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	2	\$1,300.00	\$2,600.00	\$510.00	\$1,020.00	\$450.00	\$900.00	\$635.00	\$1,270.00
65	. VEH SIG SEC (12 IN) LED (GRN), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	7	\$300.00	\$2,100.00	\$250.00	\$1,750.00	\$300.00	\$2,100.00	\$325.00	\$2,275.00
66	. VEH SIG SEC (12 IN) LED (GRN ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	1	\$300.00	\$300.00	\$250.00	\$250.00	\$300.00	\$300.00	\$325.00	\$325.00
67	. VEH SIG SEC (12 IN) LED (YEL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	7	\$300.00	\$2,100.00	\$250.00	\$1,750.00	\$300.00	\$2,100.00	\$325.00	\$2,275.00
68	. VEH SIG SEC (12 IN) LED (YEL ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	1	\$300.00	\$300.00	\$250.00	\$250.00	\$300.00	\$300.00	\$325.00	\$325.00
69	. VEH SIG SEC (12 IN) LED (RED), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	7	\$300.00	\$2,100.00	\$250.00	\$1,750.00	\$300.00	\$2,100.00	\$325.00	\$2,275.00
70	. VEH SIG SEC (12 IN) LED (RED ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	2	\$300.00	\$600.00	\$250.00	\$500.00	\$300.00	\$600.00	\$325.00	\$650.00
71	. BACK PLATE W/REF BRDR (4 SEC), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	1	\$265.00	\$265.00	\$210.00	\$210.00	\$250.00	\$250.00	\$265.00	\$265.00
72	. BACK PLATE W/REF BRDR (3 SEC), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	7	\$200.00	\$1,400.00	\$170.00	\$1,190.00	\$210.00	\$1,470.00	\$215.00	\$1,505.00
73	. TRF SIG CBL (TY A) (12 AWG) (7 CONDR), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 684	LF	850	\$3.00	\$2,550.00	\$2.75	\$2,337.50	\$3.60	\$3,060.00	\$3.00	\$2,550.00 FRN F-138

BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE F.M. 2920 TURN LANES AND TRAFFIC SIGNAL AT SORELLA HEIGHTS DRIVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 558 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JANUARY 15, 2025 LIA ENGINEERING, INC. S. YOUNG JANUARY 15, 2025 2025-0061 (9.2)

				1) DVL EN	TERPRISES LLC	2) LARRY Y	OUNG PAVING	3) DURWOOD GREE	NE CONSTRUCTION CO.	4) TLC CONSTRUCTIO	N CONTRACT SERVICES,
										II.	NC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
74.	INS TRF SIG PL AM(S)1 ARM (36'), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 686	EA	1	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$13,700.00	\$13,700.00	\$15,626.00	\$15,626.00
75.	INS TRF SIG PL AM(S)1 ARM (36') LUM, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 686	EA	1	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,500.00	\$15,500.00	\$18,934.00	\$18,934.00
76.	INS TRF SIG PL AM(S)1 ARM (44') LUM, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 686	EA	1	\$17,000.00	\$17,000.00	\$17,000.00	\$17,000.00	\$16,700.00	\$16,700.00	\$22,335.00	\$22,335.00
77.	BBU SYSTEM (EXTERNAL BATT CABINET), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 6058	EA	1	\$7,000.00	\$7,000.00	\$8,400.00	\$8,400.00	\$8,000.00	\$8,000.00	\$10,833.00	\$10,833.00
78.	RVDS (PRESENCE DETECTION ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 6292	EA	3	\$7,000.00	\$21,000.00	\$8,500.00	\$25,500.00	\$6,000.00	\$18,000.00	\$9,657.00	\$28,971.00
	RVDS PRESENCE CABLE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 6292, SUBSIDIARY TO TXDOT SPEC. NO. 6292	LF	490	\$2.00	\$980.00	\$2.50	\$1,225.00	\$3.20	\$1,568.00	\$3.00	\$1,470.00
80.	RVDS (ADVANCE DETECTION ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 6292	EA	2	\$7,000.00	\$14,000.00	\$8,200.00	\$16,400.00	\$6,000.00	\$12,000.00	\$9,360.00	\$18,720.00
81	RVDS ADVANCE CABLE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 6292, SUBSIDIARY TO TXDOT SPEC. NO. 6292	LF	390	\$3.00	\$1,170.00	\$3.00	\$1,170.00	\$3.20	\$1,248.00	\$3.00	\$1,170.00
SUBTOT	AL FM 2920 AT SORELLA HEIGHTS DRIVE TRAFFIC SIGNAL & ROADWAY ITEMS	5			\$798,987.00		\$866,577.50	-	\$877,719.90	-	\$921,323.96
BID SUN	IMARY										
FM 2920	AT SORELLA HEIGHTS DRIVE TRAFFIC SIGNAL & ROADWAY ITEMS				\$798,987.00		\$866,577.50		\$877,719.90		\$921,323.96
TOTAL A	MOUNT BASE BID				\$798,987.00		\$866,577.50		\$877,719.90		\$921,323.96

CONSTRUCTION OF THE F.M. 2920 TURN LANES AND TRAFFIC SIGNAL AT SORELLA HEIGHTS DRIVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 558 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JANUARY 15, 2025
LIA ENGINEERING, INC.
S. YOUNG
JANUARY 15, 2025

				5) MC2	CIVIL, LLC	6) FORDE CONSTR	UCTION COMPANY	7) MB WESTERN	CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	O AT SORELLA HEIGHTS DRIVE TRAFFIC SIGNAL & ROADWAY ITEMS . PREPARING ROW, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 100	STA	13.76	\$6,500.00	\$89,440.00	\$5,800.00	\$79,808.00	\$13,560.00	\$186,585.60
2	. REMOVING ASPHALT (DRIVEWAYS), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 105	SY	192	\$50.00	\$9,600.00	\$72.00	\$13,824.00	\$66.00	\$12,672.00
3	REMOVING STABILIZED BASE AND ASPHALT PAVEMENT (0"-16"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. 105	SY	612	\$50.00	\$30,600.00	\$60.00	\$36,720.00	\$58.00	\$35,496.00
4	. EXCAVATION (ROADWAY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 110	CY	1772	\$40.00	\$70,880.00	\$43.00	\$76,196.00	\$63.50	\$112,522.00
5	. EMBANKMENT (FINAL) (DENS CONT) (TY C), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 132	CY	626	\$30.00	\$18,780.00	\$50.00	\$31,300.00	\$95.50	\$59,783.00
6	BLOCK SODDING, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 162	SY	4651	\$5.50	\$25,580.50	\$8.00	\$37,208.00	\$10.50	\$48,835.50
7	. VEGETATIVE WATERING, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 168	MG	116	\$50.00	\$5,800.00	\$150.00	\$17,400.00	\$246.00	\$28,536.00
8	. ASPHALT STAB BASE (GR 4) (PG 64), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 292	TON	1618	\$140.00	\$226,520.00	\$130.00	\$210,340.00	\$187.00	\$302,566.00
g	D-GR HMA(SQ) TY-D PG70-22, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 340	TON	191	\$250.00	\$47,750.00	\$220.00	\$42,020.00	\$253.00	\$48,323.00
10	DOUBLE SHAFT (TRF SIG POLE) (36 IN), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 416	LF	44	\$380.00	\$16,720.00	\$375.00	\$16,500.00	\$425.00	\$18,700.00
11	. CONC BOX CULV (5 FT X 2 FT), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 462	LF	110	\$700.00	\$77,000.00	\$650.00	\$71,500.00	\$925.00	\$101,750.00
12	. RC PIPE (CL III) (24 IN), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 464	LF	86	\$220.00	\$18,920.00	\$250.00	\$21,500.00	\$185.00	\$15,910.00
13	I. INLET (COMPL)(TY AAD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. 465	EA	1	\$5,500.00	\$5,500.00	\$9,900.00	\$9,900.00	\$8,610.00	\$8,610.00
14	. INLET (COMPL)(TY AZ), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 465	EA	1	\$5,500.00	\$5,500.00	\$9,900.00	\$9,900.00	\$9,250.00	\$9,250.00
15	SET (TY I)(S= 5 FT)(HW= 2 FT)(6:1) (P), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 467	EA	1	\$15,000.00	\$15,000.00	\$14,000.00	\$14,000.00	\$15,375.00	\$15,375.00
16	S. SET (TY II) (24 IN) (RCP) (6: 1) (P), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 467	EA	2	\$2,500.00	\$5,000.00	\$2,700.00	\$5,400.00	\$3,700.00	\$7,400.00
17	REMOV STR (INLET), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 496	EA	2	\$500.00	\$1,000.00	\$1,600.00	\$3,200.00	\$1,250.00	\$2,500.00
18	REMOV STR (SET), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 496	EA	3	\$750.00	\$2,250.00	\$1,600.00	\$4,800.00	\$1,550.00	\$4,650.00
19	REMOV STR (PIPE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 496	LF	217	\$15.00	\$3,255.00	\$120.00	\$26,040.00	\$155.00	\$33,635.00

2025-0061 (9.2)

38. TRAY CABLE (4 CONDR) (12 AWG), IN ACCORDANCE WITH THE PLANS AND LF

SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 621

CONSTRUCTION OF THE F.M. 2920 TURN LANES AND TRAFFIC SIGNAL AT SORELLA HEIGHTS DRIVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 558 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JANUARY 15, 2025 LIA ENGINEERING, INC. S. YOUNG JANUARY 15, 2025

				5) MC2 (CIVIL, LLC	6) FORDE CONSTRU	CTION COMPANY	7) MB WESTERN	CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
20	REMOV STR (BOX CULVERT), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 496	LF	112	\$50.00	\$5,600.00	\$174.00	\$19,488.00	\$62.00	\$6,944.00
21	BARRICADES, SIGNS AND TRAFFIC HANDLING, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 502	МО	3	\$12,000.00	\$36,000.00	\$7,800.00	\$23,400.00	\$3,075.00	\$9,225.00
22	ROCK FILTER DAMS (INSTALL) (TY 2), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	LF	60	\$50.00	\$3,000.00	\$79.00	\$4,740.00	\$55.50	\$3,330.00
23	ROCK FILTER DAMS (REMOVE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	LF	60	\$20.00	\$1,200.00	\$55.00	\$3,300.00	\$31.00	\$1,860.00
24	CONSTRUCTION EXITS (INSTALL) (TY 1), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	SY	156	\$25.00	\$3,900.00	\$26.00	\$4,056.00	\$50.00	\$7,800.00
25	CONSTRUCTION EXITS (REMOVE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	SY	156	\$5.00	\$780.00	\$18.00	\$2,808.00	\$25.00	\$3,900.00
26	TEMP SEDMT CONT FENCE (INSTALL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	LF	105	\$5.00	\$525.00	\$3.50	\$367.50	\$12.50	\$1,312.50
27	TEMP SEDMT CONT FENCE (REMOVE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	LF	105	\$1.00	\$105.00	\$1.20	\$126.00	\$6.20	\$651.00
28	BIODEG EROSN CONT LOGS (INSTL) (8"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	LF	28	\$10.00	\$280.00	\$10.00	\$280.00	\$62.00	\$1,736.00
29	BIODEG EROSN CONT LOGS (REMOVE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 506	LF	28	\$1.00	\$28.00	\$4.00	\$112.00	\$25.00	\$700.00
30	CONDT PVC (SCHD 80) (2"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 618	LF	155	\$20.00	\$3,100.00	\$20.00	\$3,100.00	\$22.50	\$3,487.50
31	CONDT PVC (SCHD 80) (2") (BORE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT. SPEC. NO. 618	LF	95	\$20.00	\$1,900.00	\$32.00	\$3,040.00	\$22.50	\$2,137.50
32	CONDT PVC (SCHD 80) (3"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 618	LF	130	\$23.00	\$2,990.00	\$23.00	\$2,990.00	\$26.00	\$3,380.00
33	CONDT PVC (SCHD 80) (4"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 618	LF	45	\$29.00	\$1,305.00	\$28.00	\$1,260.00	\$32.00	\$1,440.00
34	CONDT PVC (SCHD 80) (4") (BORE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 618	LF	95	\$29.00	\$2,755.00	\$28.00	\$2,660.00	\$32.00	\$3,040.00
35	ELEC CONDR (NO. 6) BARE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 620	LF	510	\$1.90	\$969.00	\$2.00	\$1,020.00	\$2.10	\$1,071.00
36	ELEC CONDR (NO. 4) BARE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 620	LF	20	\$2.50	\$50.00	\$2.60	\$52.00	\$2.85	\$57.00
37	ELEC CONDR (NO. 4) INSULATED, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 620	LF	35	\$5.50	\$192.50	\$5.70	\$199.50	\$6.20	\$217.00

360

\$3.50

2025-0061 (9.2)

\$1,260.00

\$3.50

\$1,260.00

\$4.00

\$1,440.00

CONSTRUCTION OF THE F.M. 2920 TURN LANES AND TRAFFIC SIGNAL

BID OPE	NING DATE: NING LOCATION: ITION BY: ITION DATE: NO.				NICIPAL UTILITY DISTRIC T.J., HARRIS COUNTY, TE		
				5) MC2	2 CIVIL, LLC	6) FORDE CONST	RUCTION COMPANY
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
39.	GROUND BOX TY D (162922) W/APRON, IN ACCORDANCE WITH THE PLANS	EA		3 \$3,600.00	\$10,800.00	\$3,500.00	\$10,500.00
	AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 624						

NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	DUND BOX TY D (162922) W/APRON, IN ACCORDANCE WITH THE PLANS O SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 624	EA	3	\$3,600.00	\$10,800.00	\$3,500.00	\$10,500.00	\$4,100.00	\$12,300.00
	SRV TY D 120/240 060(NS)SS(E)SP(O), IN ACCORDANCE WITH THE NS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 628	EA	1	\$6,750.00	\$6,750.00	\$7,000.00	\$7,000.00	\$7,500.00	\$7,500.00
	M RD SN SUP&AM TY10BWG(1)SA(P), IN ACCORDANCE WITH THE NS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 644	EA	7	\$900.00	\$6,300.00	\$850.00	\$5,950.00	\$1,100.00	\$7,700.00
	M RD SN SUP&AM TY10BWG(1)SA(T), IN ACCORDANCE WITH THE NS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 644	EA	1	\$900.00	\$900.00	\$1,030.00	\$1,030.00	\$1,250.00	\$1,250.00
	L PAV MRK TY I (W)8"(SLD)(100MIL), IN ACCORDANCE WITH THE PLANS O SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 666	LF	527	\$1.80	\$948.60	\$1.30	\$685.10	\$2.00	\$1,054.00
	L PAV MRK TY I (W)24"(SLD)(100MIL), IN ACCORDANCE WITH THE PLANS D SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 666	LF	94	\$8.50	\$799.00	\$6.50	\$611.00	\$10.00	\$940.00
	L PAV MRK TY I (W)(ARROW)(100MIL), IN ACCORDANCE WITH THE NS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 666	EA	3	\$275.00	\$825.00	\$217.00	\$651.00	\$302.00	\$906.00
	L PAV MRK TY I (W)(WORD)(100MIL), IN ACCORDANCE WITH THE PLANS D SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 666	EA	3	\$300.00	\$900.00	\$217.00	\$651.00	\$340.00	\$1,020.00
	L PAV MRK TY I (Y)24"(SLD)(100MIL), IN ACCORDANCE WITH THE PLANS O SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 666	LF	530	\$8.50	\$4,505.00	\$6.50	\$3,445.00	\$10.00	\$5,300.00
	PM W/RET REQ TY I (W)6"(SLD)(100MIL), IN ACCORDANCE WITH THE NS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 666	LF	2672	\$1.00	\$2,672.00	\$1.10	\$2,939.20	\$1.20	\$3,206.40
	PM W/RET REQ TY I (Y)6"(SLD)(100MIL), IN ACCORDANCE WITH THE NS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 666	LF	4306	\$1.00	\$4,306.00	\$1.10	\$4,736.60	\$1.20	\$5,167.20
	L PAV MRKR TY I-C, IN ACCORDANCE WITH THE PLANS AND CIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 672	EA	26	\$6.50	\$169.00	\$7.60	\$197.60	\$7.50	\$195.00
	L PAV MRKR TY II-A-A, IN ACCORDANCE WITH THE PLANS AND CIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 672	EA	215	\$6.50	\$1,397.50	\$7.60	\$1,634.00	\$7.50	\$1,612.50
	M EXT PAV MRK & MRKS (4"), IN ACCORDANCE WITH THE PLANS AND CIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 677	LF	6243	\$0.55	\$3,433.65	\$0.55	\$3,433.65	\$0.60	\$3,745.80
	FALL HWY TRF SIG (FLASH BEACON), IN ACCORDANCE WITH THE PLANS O SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680	EA	1	\$7,900.00	\$7,900.00	\$7,700.00	\$7,700.00	\$8,750.00	\$8,750.00
	TALL HWY TRF SIG (SYSTEM), IN ACCORDANCE WITH THE PLANS AND CIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680	EA	1	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00
THE	FULL ACTUATED SOLID STATE W/ NEMA CAB, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	1	\$20,000.00	\$20,000.00	\$19,000.00	\$19,000.00	\$22,200.00	\$22,200.00
SPE	CAB FOUNDATION, IN ACCORDANCE WITH THE PLANS AND CIPICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY IXDOT SPEC. NO. 680	EA	1	\$5,500.00	\$5,500.00	\$5,400.00	\$5,400.00	\$6,200.00	\$6,200.00

7) MB WESTERN CONSTRUCTION

CONSTRUCTION OF THE F.M. 2920 TURN LANES AND TRAFFIC SIGNAL AT SORELLA HEIGHTS DRIVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 558 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JANUARY 15, 2025
LIA ENGINEERING, INC.
S. YOUNG
JANUARY 15, 2025

				5) MC2	CIVIL, LLC	6) FORDE CONSTR	UCTION COMPANY	7) MB WESTERN	CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
57	ROD 5/8"X10' COPPER-CLAD GROUND (CNT ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	1	\$55.00	\$55.00	\$54.00	\$54.00	\$62.00	\$62.00
58	RADAR DETECTOR PROCESSOR, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	1	\$3,300.00	\$3,300.00	\$3,200.00	\$3,200.00	\$3,700.00	\$3,700.00
59	18-INCH CABINET BASE EXTENSION, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	1	\$950.00	\$950.00	\$912.00	\$912.00	\$1,050.00	\$1,050.00
60	OVERHEAD SIGN, FM 2920 (54"X18") 6.8 SF, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	1	\$600.00	\$600.00	\$590.00	\$590.00	\$700.00	\$700.00
61	OVERHEAD SIGN, SORELLA HEIGHTS DR (102"X18") 12,8 SF, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	2	\$775.00	\$1,550.00	\$750.00	\$1,500.00	\$870.00	\$1,740.00
62	MAST ARM DAMPENER, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	3	\$575.00	\$1,725.00	\$564.00	\$1,692.00	\$650.00	\$1,950.00
63	CELLULAR MODE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	1	\$1,900.00	\$1,900.00	\$1,825.00	\$1,825.00	\$2,100.00	\$2,100.00
64	LED RDWY LUMINAIRE (.25 KW EQ), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 680, SUBSIDIARY TO TXDOT SPEC. NO. 680	EA	2	\$390.00	\$780.00	\$375.00	\$750.00	\$430.00	\$860.00
65	VEH SIG SEC (12 IN) LED (GRN), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	7	\$300.00	\$2,100.00	\$290.00	\$2,030.00	\$340.00	\$2,380.00
66	VEH SIG SEC (12 IN) LED (GRN ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	1	\$300.00	\$300.00	\$290.00	\$290.00	\$340.00	\$340.00
67	VEH SIG SEC (12 IN) LED (YEL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	7	\$300.00	\$2,100.00	\$290.00	\$2,030.00	\$340.00	\$2,380.00
68	VEH SIG SEC (12 IN) LED (YEL ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	1	\$300.00	\$300.00	\$290.00	\$290.00	\$340.00	\$340.00
69	VEH SIG SEC (12 IN) LED (RED), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	7	\$300.00	\$2,100.00	\$290.00	\$2,030.00	\$340.00	\$2,380.00
70	VEH SIG SEC (12 IN) LED (RED ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	2	\$300.00	\$600.00	\$290.00	\$580.00	\$340.00	\$680.00
71	BACK PLATE W/REF BRDR (4 SEC), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	1	\$245.00	\$245.00	\$240.00	\$240.00	\$275.00	\$275.00
72	BACK PLATE W/REF BRDR (3 SEC), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 682	EA	7	\$200.00	\$1,400.00	\$194.00	\$1,358.00	\$222.00	\$1,554.00
73	TRF SIG CBL (TY A) (12 AWG) (7 CONDR), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 684	LF	850	\$3.90	\$3,315.00	\$3.75	\$3,187.50	\$4.50	\$3,825.00

2025-0061 (9.2)

BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE F.M. 2920 TURN LANES AND TRAFFIC SIGNAL AT SORELLA HEIGHTS DRIVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 558 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JANUARY 15, 2025
LIA ENGINEERING, INC.
5. YOUNG
JANUARY 15, 2025
2025-0061 (9.2)

				5) MC2	2 CIVIL, LLC	6) FORDE CONST	RUCTION COMPANY	7) MB WESTERN	CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
74	INS TRF SIG PL AM(S)1 ARM (36'), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 686	EA	1	\$14,250.00	\$14,250.00	\$14,000.00	\$14,000.00	\$16,000.00	\$16,000.00
75	INS TRF SIG PL AM(S)1 ARM (36') LUM, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 686	EA	1	\$16,000.00	\$16,000.00	\$15,600.00	\$15,600.00	\$18,000.00	\$18,000.00
76	INS TRF SIG PL AM(S)1 ARM (44') LUM, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 686	EA	1	\$17,500.00	\$17,500.00	\$17,000.00	\$17,000.00	\$20,000.00	\$20,000.00
77	BBU SYSTEM (EXTERNAL BATT CABINET), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 6058	EA	1	\$8,250.00	\$8,250.00	\$8,050.00	\$8,050.00	\$9,500.00	\$9,500.00
78	RVDS (PRESENCE DETECTION ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 6292	EA	3	\$5,500.00	\$16,500.00	\$5,400.00	\$16,200.00	\$6,150.00	\$18,450.00
79	RVDS PRESENCE CABLE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 6292, SUBSIDIARY TO TXDOT SPEC. NO. 6292	LF	490	\$3.30	\$1,617.00	\$3.25	\$1,592.50	\$3.70	\$1,813.00
80	RVDS (ADVANCE DETECTION ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 6292	EA	2	\$5,500.00	\$11,000.00	\$5,400.00	\$10,800.00	\$6,150.00	\$12,300.00
81	RVDS ADVANCE CABLE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE, TXDOT SPEC. NO. 6292, SUBSIDIARY TO TXDOT SPEC. NO. 6292	LF	390	\$3.30	\$1,287.00	\$3.25	\$1,267.50	\$3.70	\$1,443.00
SUBTOT	AL FM 2920 AT SORELLA HEIGHTS DRIVE TRAFFIC SIGNAL & ROADWAY ITEM	S			\$932,364.75	•	\$987,947.65	-	\$1,323,696.50
BID SUN	IMARY								
FM 2920	AT SORELLA HEIGHTS DRIVE TRAFFIC SIGNAL & ROADWAY ITEMS				\$932,364.75		\$987,947.65		\$1,323,696.50
TOTAL A	MOUNT BASE BID				\$932,364.75		\$987,947.65		\$1,323,696.50